F792  2.3.6 	Understanding Diagenesis				

Example 1. Coal
The pie charts below show the total water and gas content in a series of coal samples that have undergone different amounts of diagenesis.

	Coal A
	Coal B
	Coal C

	










	
	



1. (a)	Which coal formed at the greatest depth?	..........................................	[1]

    (b)	Which coal formed closest to the surface?	..........................................	[1]

    (c)	Name the process that caused the change in water content of the coals?

..................................................................................................................................  [1]



    (d)	The bar chart above shows the relative thickness of different coals that all 	started with the same amount of organic material. Estimate the ratio of peat 	needed to produce one unit of anthracite.
								.........................................	[1]

   (e)	Match the pie charts for samples A B and C to three of the types of coal shown 	in (d).											[2]

	Coal A

	...............................................
	Coal C
	.....................................................

	Coal B
	...............................................
	

	


   (f)    State the composition of coal

..................................................................................................................................  [1]



Example 2. Sandstone

2. In the spaces below draw diagrams to show the grains in sediment taken from a shallow borehole at different depths.

	Sample E - 
Rounded grains found just below the surface with little compaction
	Sample F 
Same grains at depth of 5 m with some compaction
	Sample G
Same grains at a depth of 20 m, significant compaction and a cemement formed

	








	
	



(a)	Indicate the likely porosity for each of the samples				[3]

	Sample E ..........................
	Sample F ..........................
	Sample G .........................



(b)	Explain the cause of the changes that occurred between samples E and F.

........................................................................................................................................

..................................................................................................................................  [2]

(c)	Explain the cause of the changes that have occurred between samples F & G.

........................................................................................................................................

........................................................................................................................................

..................................................................................................................................  [2]

[bookmark: _GoBack](d)	Describe how the mineral cement is likely to have formed in sample G.

........................................................................................................................................

........................................................................................................................................

..................................................................................................................................  [2]

(e)	Name two minerals that commonly form mineral cements.

..................................................................................................................................  [2]

(f)	If the sandstone was buried to a depth of 1000 m. What additional changes would you expect to find?

........................................................................................................................................

..................................................................................................................................  [2]
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